HHEZERB (HFEE)

4 A 238 OK) BBADHEETT, ROZV v FOFEREEZNLNV—XY —T7F1TLAR—
NRRIZAEN T, BELTLLEEY,

BEORHFIEIL, classi £721% Teams O EBLLNTEE.2T v/ u— KT 5B TE
FRLTL7ZENY,

classi Tl Ay E—Y) @ =7 —4] &R,

Teams @ [F—2 K3D #R] — [Z0ftl) — [FRE] TEH.

BIREDfEFIT. R R —252— (URL : http//www.kaisei.ed.jp/class) F7-1Z classi
FE7i X Teams 25 PDF O 7 7 ANV E X0 — RTEBHEHICLET,

HRE. BEFR—L—, classi, Teams ® 3 DOEETERZR > TWETH, 5%
X Teams IZBITLTWE 9, BEITTE, EFEL 320EEEZFEL TN E IV,

HY KA




M No0.2 2019.0423)
HORE K%

& 5
- ROEMHIC &> TEDSNBEF {a,} D—MREEZRD X.

a1 =1, apy1=3an+2n-1

HE5 ROXFLE->TEDLNBZET {a,} D—REZRD L.

a1 =1, ant1 =3a, +4n

L
ROEMHICE > TEDSNBZHF {a,} D—KIEZRD K.

a1 =2, nant1 = (n+2)a,+n

FE6 ROEXBIE->TEDLNZET {a,} D—REHZRD K.

a = o, (n—1)ap—1 = (n+1)an

BlE 7

ROEHFIT L > TED SNZEF] {a,} D—REZRKD K.
(1) a1 =3, a3 =5, ant2 = 3any1 —2an

(2) a1 =0, ay =1, any2 = ant1 +6an

(3) a1 =0, a2 =2, anya —4ant1 +4a, =0

BE7T ROFHFICKS>TEDSNZHT {an} D—IREZRD K.
(1) a1 =1, ap = 2, Qn+2 + 4an+1 — San =0
(2) a1 =3, az =10, any2 = any1+12a,

(3) a1 =0, a =3, apnt2 —6apr1+9a, =0

Fl=E 8
a; = 4, bl = 1, An+1 = 3an =+ bn, bn+1 = an + 3bn Tiy)ghflﬂ

BEF {an}, {bn} DB 5.
(1) ant1 + abpi1 = Blan + aby,) ZHES, o, B OHZ 2 KD XK.
(2) $5 {an}, {bn} D—FIEERD K.

ﬁg 8 a; = 1, bl = 3, Qnt1 = 3an + bny bn+1 = 2an +4b'n TE&)BTLTL\%ﬁﬁJ




